42 =32 SN SRS
HE: AZESAMAT D
el dEdsy =4 (CH M)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
dE s 215,451,319 183,947,098 31,504,221
= 17,898,779
sy 45,000
| 157,890, 150
= 39,617,390
AHASHMEAT D 193,540,861 160,526,267 33,014,594
= 11,098,779
s 45,000
| 157,890,150
& 24,506,932
sy |4 9,229,361 9,186,426 42,935
= 4,772,299
s 45,000
| 1,201,180
= 3,210,882
TS sg Ma-IE - RE DBt = 497,000 661,930 A 164,930
202 Odb| 5,000 7,650 A2,650
01 =WHO4HI 5,000 7,650 A2,650
ozlgtd= SHHF FH 5,000
308 AtXIEMS0IA 72,000 72,000
01 AIXIEHHBAEES 72,000 72,000
orEdES=sME TR XN 72,000
403 XX HMS K201 A 420,000 582,280 A162,280
01 XtXIEHHI A= 2 = 420,000 582,280 A 162,280
ozlgtd=sdE I3 - /3|8 =4 378,000
OMAHZE ZSEsLE MAAE X 42,000
3=y 43t X2 519,600 540,600 A21,000
308 AXIHMSOIA 519,600 540,600 A21,000
01 AXIEHHBAEES 519,600 540,600 A21,000
o st 3= 297,000
OrEE=sdE IESEXY] 138,600
Of=% XL A=EH N2 84,000
SN X (=1) 4,767,707 4,336,986 430,721
= 4,058,994
== 708,713
308 AXISHMSOIA 4,767,707 4,336,986 430,721
= 4,058,994
= 708,713
01 AXSHHBANEXRS 4,767,707 4,336,986 430,721
OE2MEHM XA 4,767,707
= 4,058,944
= 708,713

- 630 -




42 =32 SN SRS
HE: AZESAMAT D
el dEdsy =4 (CH M)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
e d = NRAIE(=22) 67,500 420,000 A352,500
s 45,000
< 22,500
403 XX HMS K201 A 67,500 420,000 A352,500
s 45,000
< 22,500
01 XISHHAIZ2E X 67,500 420,000 A352,500
orsdE=sd N+7xd 67,500
s 45,000
< 22,500
A =HANE(=D) 1,201,180 1,201,180 0
| 1,201,180
308 AtXISHMSO0IH 1,201,180 1,201,180 0
| 1,201,180
01 AXSHBLEES 1,201,180 1,201,180 0
orEE=d ANFX=H 1,201,180
| 1,201,180
SIsLAM XA (=212) 369,374 446,230 AN\T76,856
= 263,305
= 106,069
307 21201 ™ 27,600 15,000 12,600
= 27,600
02 QIZtABAAIHE S 27,600 15,000 12,600
OEYHE 48 X3 27,600
= 27,600
308 AtXISHHMSO0IH 341,774 431,230 A\89,456
= 235,705
& 106,069
01 AXEHBAEES 341,774 431,230 A89,456
ORII=LXM XA 341,774
= 235,705
& 106,069
SHEFPHMIZ (=2 0) 585,000 357,500 227,500
= 450,000
< 135,000
308 AtXISHMS0IH 585,000 357,500 227,500
= 450,000
== 135,000
01 HXSHBHEEXS 585,000 357,500 227,500
O=gatdEdIZz 585,000
= 450,000
& 135,000
SI&HlZ X3 (HEAIS) 1,222,000 1,222,000 0
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4= =33 SN AEAsYD
HE: AZESAMAT D
Bl AAY FHH 25t (CH M)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
= 1,631,400
01 XN BAEES 1,631,400 1,586,000 45,400
o222 8 (XIXHA) X 1,631,400
= 1,631,400
A2 BSHAIAM SH(=21) 37,200 17,700 19,500
= 30,000
= 7,200
308 AXIHMSOI& 37,200 17,700 19,500
= 30,000
& 7,200
01 IXSHHBAEELS 37,200 17,700 19,500
O34t Y - B MAHT] s - A48 XA 37,200
= 30,000
& 7,200
NEAN FSEHH(=1) 903,600 280,800 622,800
= 753,000
< 150,600
403 XX SHHMS K201 903,600 280,800 622,800
= 753,000
< 150,600
01 AXIHAMA2E X 903,600 280,800 622,800
OH AX - JEAIL 903,600
= 753,000
< 150,600
SUXES HHXA(=1) 589,500 582,000 7,500
| 589,500
202 04| 9,000 9,000 0
| 9,000
01 =UHOHI 9,000 9,000 0
OZUAZH At =& 9,000
| 9,000
308 AXISHM SOl 580,500 573,000 7,500
| 580,500
01 AXSHHBAEES 580,500 573,000 7,500
OZ2UX=H &Yl X 580,500
| 580,500
SAUNEZ EQHA XA (21) 48,870 48,870 0
| 48,870
308 RIXIHHMSO0IH 48,870 48,870 0
| 48,870
01 HXSHBAEES 48,870 48,870 0
O3dNE= ELHAHl XA 48,870
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A2 =33 SN SRS
HE: AZESAMAT D
Bl AAY FHH 25t (CH M)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
| | 48,870
SAXN2Z(=21) 155,826,000 133,862,000 21,964,000
| 155,826,000
308 XXM SO & 155,826,000 133,862,000 21,964,000
| 155,826,000
01 AXIHHBAELES 155,826,000 133,862,000 21,964,000
OJI28 SAXEH 155,826,000
| 155,826,000
MEIA B =222l JI223 AIEAI(21)(ZY) 453,800 0 453,800
= 350,000
& 103,800
307 G120l 100,000 0 100,000
= 70,000
& 30,000
02 QIRHFAAIHE = 100,000 0 100,000
ONEA=Y W= - B 100,000
= 70,000
< 30,000
308 AtXISHMSO0IH 274,800 0 274,800
= 210,000
o= 64,800
01 AXSHHBAEES 274,800 0 274,800
O==22clzs & H$HAUEI2Y e 120,000
= 84,000
= 36,000
O 22 MACHR| g - H4E 30,000
= 21,000
< 9,000
O 283 MASI] SIIXM X2 (Z4) 4,800
= 84,000
== 10,800
©'234 MACHR| W= - 2H4E 30,000
= 21,000
= 9,000
403 XXISHHMSK=01A 79,000 0 79,000
= 70,000
< 9,000
01 RXISHMAZ2E X 79,000 0 79,000
OMEtA sIIAM XIS (XHe) 79,000
= 70,000
== 9,000
2= MAD|EH =A 13,217,347 4,277,343 8,940,004
= 44,880
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sd3= dsgn
AlgbR 22 D
ga= dablg &4 (2 M)
22K B O9I(3H) - HRAY - B ofl &t i HIDEZ
J 224,600
= 12,947,867
FTA OIS &&= 388 ML 1,511,390 1,187,982 323,408
202 04l 3,060 3,060 0
01 2LHOIHI 3,060 3,060 0
OFTAliS &&= 2484 =a 3,060
308 AXIHHSOIA 1,508,330 1,109,922 398,408
01 XN B ELS 1,508,330 1,109,922 398,408
A TR HE Aok 80,580
OZAEHEHE AHZa N2 250,000
OZ3ZA NxE2 2H 36,750
OLNE=E s&HEHl X2 441,000
Odzold €828 XA 700,000
WZ HEEX 54 X 83,250 50,820 32,430
403 MR EHMSAHE01H 83,250 50,820 32,430
01 AXISHH A= E X 83,250 50,820 32,430
OMZ HSHX 54 X 48,000
OMZA =X MEAIE X 35,250
2= Y3a 109,500 150,300 40,800
403 X SHMSXH=01H 109,500 135,300 A\25,800
01 AXISHHAZ2E X 109,500 135,300 25,800
o&=4ty Jlgt =4 109,500
SEMH=F(=HHEXH) 2,308,800 2,280,000 28,800
308 AXIHHISOIA 2,308,800 2,280,000 28,800
01 MXHHBSExS 2,308,800 2,280,000 28,800
OsgdxEd N& 2,308,800
gsgES (1) 224,600 223,020 1,580
Jl 224,600
308 MXIEHMSOIH 224,600 223,020 1,580
Il 224,600
01 XN B EELS 224,600 223,020 1,580
OL=sYAEN(=012%) 224,600
Il 224,600
DX ZA I YA (A H T 321,463 326,877 A5,414
&)
307 212+01& 321,463 326,877 A5,414
02 2B A HE R 321,463 326,877 Ab,414
OS2t == HE MAH(THAIL 321,463
S0l OrMEE ZEAL XY (=1) 58,344 58,344 0
= 44,880
[ 13,464
403 MR EHMSAH=0lH 58,344 58,344 0
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=52 SN AEZsD
Mg a2 AR D
EAE a8 &4 (EEREED
2.2 - B G2(3) - HIRAY - BES ol ke i HimEST
= 44,880
= 13,464
01 XIXISHH 22X 58,344 58,344 0
ORoll OlMEE ZEAM X2 58,344
= 44,880
= 13,464
st3gotd KA 8,600,000 0 8,600,000
308 XAXIHMSOIA 8,600,000 0 8,600,000
01 AXSHBAEEXS 8,600,000 0 8,600,000
otgt =X K& 8,600,000
SHI A= & AS0HE 8,391,965 7,736,530 655,435
= 3,007,200
= 5,384,765
sIAH 22 - 22 4,045,675 3,407,780 637,895
202 04| 3,000 4,980 21,980
01 2LHOLI 3,000 4,980 21,980
OsYIIHst & ASOHE =& 3,000
308 AtXISHMSOIH 2,880,000 1,980,000 900,000
01 AXSHBAEES 2,880,000 1,980,000 900,000
OLU=sIIA #=cl2Z8l X 180,000
OsgE BAs #2dl X 2,700,000
403 XIS MS =01 A 1,162,675 1,422,800 A260,125
01 MHXISHAHEER 1,162,675 1,422,800 A260,125
O=IIH LAY XI& 671,500
OUE=sIIH =3 #& X& 176,175
OSIIAHLUAE A (RE=ZA) &R 250,000
OsJIH 22&1 &X 20,000
oMaEd sHIIH X 45,000
sIAHLUAIE A XI&(=21) 1,875,000 1,920,000 A45,000
= 1,250,000
= 625,000
403 XX SHHMS K201 1,875,000 1,920,000 245,000
= 1,250,000
< 625,000
01 XXISHAE2E X 1,875,000 1,920,000 245,000
OsJIHSUAE A XA 1,875,000
= 1,250,000
< 625,000
SIHSSHER 2R (=12) 66,990 68,150 21,160
= 46,200
< 20,790
308 KXISHMSOIH 66,990 68,150 21,160
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4= =33 SN AEAsYD
HE: AZESAMAT D
©9l SD|HE @ ASOHE (i = 9l)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
= 46,200
& 20,790
01 AXESHNBLEES 66,990 68,150 21,160
O SSHEX 2= 66,990
= 46,200
& 20,790
ML 2D A SIIAH X (21) 1,050,000 360,000 690,000
= 700,000
== 350,000
403 XIS MS =01 1,050,000 360,000 690,000
= 700,000
& 350,000
01 AIXHHA=2E X 1,050,000 360,000 690,000
O=F4HX] L2 (A SI1H K& 1,050,000
= 700,000
& 350,000
L5 S OIMHX H2XE(=21) 1,054,300 1,380,600 A326,300
= 811,000
= 243,300
308 AXIHMSOI& 1,054,300 0 1,054,300
= 811,000
o= 243,300
01 HXSHHBAEELS 1,054,300 0 1,054,300
OLF =LA DIAHX MR 1,054,300
= 811,000
& 243,300
SESIIH HHXIA(=1) 300,000 600,000 A300,000
= 200,000
< 100,000
403 XX SHHMSK=01AM 300,000 600,000 A300,000
= 200,000
= 100,000
01 MXIHAMA2EZ 300,000 600,000 300,000
CE2SIIH AKX 300,000
= 200,000
o= 100,000
=01 X2 815,568 650,568 165,000
= 470,000
& 345,568
=401 X& 345,568 170,568 175,000
201 LBr2AH| 31,000 30,000 1,000
01 AtR2eltl 31,000 30,000 1,000
O=gold XMH 29 31,000
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3= SN AEAsYD
SASZHE N D
gol= Xd EER-E))
2. 24 - BB O(B) - NIRAIY - BAS Ofl ko i fimE==t
202 o4 3,300 3,300
01 =WOdHI 3,300 3,300
=sgeoled Xd dR=8 3,300
308 AtXISHMS0IH 161,268 137,268 24,000
01 AXEHBAEES 161,268 137,268 24,000
O=gold X2MH 29 96,000
O2A=Q 22X 22H9] I 65,268
403 ItXIHMS =01 A 150,000 0 150,000
01 XtXIEHHI A= 2 = 150,000 0 150,000
O=YE0F =222 Xt sSAKE 150,000
SENEHEIJA(21) 470,000 480,000 A 10,000
= 470,000
308 AtXIEMS0IA 470,000 480,000 A 10,000
= 470,000
01 IXSHHBLEES 470,000 480,000 A 10,000
O=sELNEHXA 470,000
= 470,000
A X4 21,870,150 23,382,092 A1,5611,942
= 6,800,000
& 15,070, 150
& Z+32HAH =E 7,640,750 5,422,584 2,218,166
= 6,800,000
& 840,750
STMAD| B FH| 570,500 889,834 A319,3%4
202 044l 7,000 13,770 AB,770
01 =WHO4HI 7,000 13,770 26,770
O= A8 | 7,000
403 XX SHHMSX=01M 563,500 876,064 A312,564
01 tXISHHA2E S 563,500 876,064 A312,564
O=MAD B HHIAMY 383,500
ORHorE AREXICH( XM 2=X]) oA CHEH 180,000
Sl Sei 232,750 232,750
403 XHXIH S X201 S 232,750 232,750
01 XtXIEHHI A= 2 2= 232,750 232,750
OYEZ JISUH 232,750
gi==IH4 (=2 1) 6,500,000 4,000,000 2,500,000
= 6,500,000
402 SI2HR201 4,000,000 4,000,000 0
= 4,000,000
02 QIZINZ2AE B AR (01X THE) 4,000,000 4,000,000 0
Obli==Ii& (01A) 4,000,000
= 4,000,000
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2 =32 N HERseD
M SQIMAD|E XA
o9l OIEE BATIM = (ol me)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
403 NXIEHS K201 2,500,000 0 2,500,000
= 2,500,000
01 AXISHHA=E X 2,500,000 0 2,500,000
OHUH==IH & (XEA) 2,500,000,000 2,500,000
= 2,500,000
IS0l S0 (=1) 337,500 300,000 37,500
= 300,000
& 37,500
403 AXIEHMS =201 337,500 300,000 37,500
= 300,000
= 37,500
01 XX HIA= 2 = 337,500 300,000 37,500
Ot UHl S04 337,500
= 300,000
= 37,500
SHMADBE HH| 14,229,400 17,959,508 23,730,108
2olet FHI(HEAY) 8,237,400 4,957,600 3,279,800
403 XIS H=0lH 8,237,400 4,997,600 3,279,800
01 MHXIHHA=E X 8,237,400 4,957,600 3,279,800
OEMBEEAX T LIBHHIAI (HE) 1,263,000
OYURI 7 EINIEHEHIAIS (X&) 1,025,000
O33R LIIEHEHIAIS (M E) 860,000
O3 22X+ LIS EHIAIS (D &) 1,599,000
OAHXIF LI HIAIG (X&) 1,290,000
OBSX 7 LIISHEHIAIG (X ) 559,000
OE2lX+ LINHEHIAIG (H &) 808,400
OYHIRXI7 EIIEHEHIAIS (A &) 215,000
OSSR T &It (M &) 618,000
U+& SXFe(HEA) 4,870,000 7,881,908 /3,011,908
403 AXIEHMSA=Z01A 4,870,000 7,881,908 /3,011,908
01 AXISHHA=2 22X 4,870,000 7,881,908 A3,011,908
OFEXF UHF&IXH eI (HE) 825,000
OASXF B XNE eI (HE) 825,000
OA=RF &SR HelArE (HE) 1,333,000
OYLHAIF RSN LIS (HE) 860,000
Os=A7 Y-S XA ) 769,000
Ol X7 H&B XA ) 258,000
A2 B S (HEALY) 1,122,000 4,465,000 A3,343,000
403 XIS =201 1,122,000 4,465,000 3,343,000
01 AXISHA=2EE 1,122,000 4,465,000 A\3,343,000
OANZXF ARSI A (X2 1,122,000
dH2LIH|(ZEZ=L) 40,308 38,739 1,569
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42 =32 SN SRS
MY HE2 AN (HETS )
=l Jl=dhl (S ®SA)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
Jl2&l 40,308 38,739 1,569
SEM2E J|2Z& | 40,308 38,739 1,569
201 23| 28,584 27,357 1,227
01 AtR2eltl 28,584 27,357 1,227
EA2Y AtR2t2|Y| 28,584
202 04| 7,524 7,182 342
01 =WHO4HI 7,524 7,182 342
OFfAM2E =N 7,524
203 AR F=&lY| 4,200 4,200
M4 NI RFAL 4,200 4,200
©2521 0|5t 350,000& =123 4,200
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